5 A #IE TECHNICAL SPECIFICATIONS
BAME D= Y BERE DEEN A% ﬂ%ﬁ =££% =%§E gERE #»E

Molor Rated Current Full-load Full-load ¥ Rated N
Power Locked Locked Break = —e W tlﬂﬂih :
380V 400V 415V EfY Rotor Rotor Down
AL A A m K Current Torque Torque . kg

cose % Is/In Ms/ Mu Mu/ My

STEMOTOR s RN )
ARI=HBRFRT B3

THREE PHASE TEFC ALUMINUM INDUCTION MOTORS

2-POLE/3000RPM

5612 0.09 039 037 036 2710 0.70  50.0 4.0 1.8 2.0 0.32 3.2

5622 012 047 045 043 2710 0.70  55.0 4.0 1.8 2.0 0.42 14

6312 018 058 055 053 2720 0.73 65.0 5.5 2.2 2.2 0.63 3.9

6322 0.25 0,76 072 0.69 2720 0.76 66.0 5.5 2.2 2.2 0.88 4.4

6332 037 099 094 091 2720 0.81 70.0 6.1 2.2 2.2 1.30 4.7

7112 0.37 099 094 091 2760 0.81 70.0 6.1 2.2 2.2 1.28 6.2

7122 0.55  1.40 133 128 2820 0.82  73.0 6.1 2.2 2.3 1.86 6.3

7132 0.75 188 1.78 172 2820 0.82 74.0 6.1 2.2 2.3 2.54 6.5

8012 0.75  1.83 174 1.68 2845 0.83 75.0 6.1 2.4 2.5 2.52 8.3

8022 1.1 2.58 245 237 2840 0.84 77.0 7.0 2.5 2.5 3.7 9.0

8032 1.5 348 330 398 2840 0.84 78.0 7.0 2.5 2.5 5.04 10.0

9052 1.5 343 3.26 304 2840 0.84 79.0 7.0 2.7 2.8 5.04 12.5

9012 2.2 485 4.61 445 2840 0.85 81.0 7.0 2.5 2.8 7.4 14.0

90LB2 3.0 646 614 592 2840 0.86 82.0 7.0 2.5 2.8 10.09 16.0

10002 1.0 6.31 6.00 578 2870 0.87 83.0 7.5 2.2 2.5 9.98 20.5

10012 4.0 812 772 744 2880 0.88  85.0 7.5 2.3 2.5 13.26 28.0

112M2 4.0 812 10.50 10.10 2880 0.88  85.0 7.5 2.3 2.3 13.26 26.0

1M2MC2 5.5 11.00 10.50 10.10 2900 0.88 86,0 7.5 2.3 2.3 18.17 33.0

132812 5.5 1.00 10,50 10.10 2910 0.88  86.0 7.5 2.2 2.5 181 40.0

132522 75 14.90 1410 13.60 2905 0.88 87.0 7.5 2.2 2.4 24.66 44.0

12MC2 1 21.30 20.30 19.50 2910 0.89  88.0 7.5 2.2 2.4 36.10 65.0

= 4-POLE/1500RPM

5614 0.06 028 027 026 1330 0.65 50.0 4.0 1.4 2.0 0.43 3.2

HSEHR=HIXREBRELDH. 5624 0.09 037 036 034 1330 0.73 50.0 4.0 1.8 2.0 0.65 3.4
ZRNNVEENEONERE, SERTHSIECHE, 6314 012 044 042 041 1340 072  57.0 44 1.8 2.0 0.86 4.0
S QIPss, FRESE, BREFFE, BESEI00VS50HZ, 6324 0.18 0.65 0.61 059 1340 0.73 58.0 4.4 1.8 2.0 1.28 4.5
AR FRERE15" T40°C, Wik <1000m, 6334 0.22 079 075 072 1340 073 580 4.4 1.8 2.0 1.57 4.9
1S Seites 1 thise Dhase Induchon Aksmmiiim mosr: Eciency 7114 025 079 075 072 1345 0.74 65.0 5.2 2.1 2.2 1.78 6.1
reach IE1 standard. Mounting dimensions Is according IEC standard. 7124 0.37 112 106 1.02 1340 0.75 67.0 5.2 2. 1.2 2.64 6.7
IP55 protection, F-class Insulation, B-level temperature rise, S1 7134 055 157 149 1.44 1390 0.75 71.0 5.3 2.2 2.5 3.78 8.2
duty, rated voltage 400V 50Hz. 8014 0.55 1.57 1.49 1.44 1390 0.75 71.0 5.3 2.2 2.5 3.78 8.9
Operating Conditions: amblent temperature -15° ~40'C, above 8024 0.75  2.05 195 1.88 1380 0.76  73.0 5.3 2.3 25 5.19 9.6
SERIEVEISINODS,. 8034 1.1 2.89 274 264 1390 0.76 76.2 6.0 2.3 2.5 7.56 12.2
9054 1.1 285 271 261 1390 0.77 76.2 6.0 2.3 2.5 7.56 12.5

9014 1.5 3.72 3.54 341 1390 078 785 6.0 2.3 2.5 10.31 15.0

90LB4 2.2 503 478 461 1415 0.82 81.0 7.0 2.3 2.5 14.85 19.5

100L4 2.2 503 478 461 1415 0.82 81.0 7.0 2.3 2.5 14.85 19.2

100124 3.0 6.73 639 616 1415 0.82 82.6 7.0 2.3 2.5 20.25 23.0

1001C4 4.0 8.70 826 7.96 1430 0.83 84.2 7.0 2.3 2.5 26.71 25.9

112M4 4.0 8.70 826 7.96 1430 0.83 84.2 7.0 2.3 2.5 26.71 29.0

112MC4 5.5 11.70 11.20 10.80 1445 0.83 85.7 7.0 2.3 2.5 36.35 37.5

13254 5.5 1.70 11.20 10.80 1445 0.83 85.7 7.0 2.3 2.5 36.35 431.5

132M4 7.5 15.60 14.80 14.30 1445 0.84 87.0 7.0 2.3 2.5 49.57 53.5

132ZMC4 n 225 N4 206 1460 0.84 88.4 7.0 2.2 1.3 71.95 75.6




£ R8I TECHNICAL SPECIFICATIONS Q.2 % R <TE MOUNTING AND OVERALL DIMENSIONS

BHRE bD¥ BN BENE DEER X¥ aﬂﬁg ﬂ_ﬁgﬁi I.?REE aEnE PR
Motor Rated Curremt Rated Fullload Full-load I.E:Eé d .I.Eckedﬁ ..E“ :ﬁ Rated Net
Type Output speed Power Eff torgue Weight

POWEr 380V 400V 415V factor n ROt Bewr  DowR
KW A A A r/min tobe & El'lrlt nt Torque  Torque N-M kg
s/In Ms/ Mu M/ M~
6-POLE/1000RPM
6316 0.09 046 046 0.44 860 0.59 48.0 4.0 1.9 2 1.0 4.5
6326 0.12 0.60 0.57 055 860 0.59 51.5 4.0 1.9 2 1.33 5.6
116 0.18 0.74 0.70 0.68 860 0.66 56.0 4.0 1.9 P 2.0 6.4
7126 0.25 095 090 0.87 860 0.68 59.0 4.0 1.9 2 2.78 6.5
8016 0.37 1.30 1.23 1.9 885 0.70 62.0 4.7 2.0 2.1 3.99 8.5
8026 0.55 .79 1.70 1.63 835 0.72 65.0 4.7 2.0 2.1 5.94 9.2
9056 0.75 2219 218 210 915 0.72 69.0 5.5 2.0 2.1 7.83 12.0
90L6 11 318 302 291 915 0.73 72.0 3.3 2.0 2.2 11.48 14.0
100L6 1.5 400 380 366 920 0.75 76.0 5.5 2.1 2.2 15.57 19.5
N2Mé 1.2 557 519 5. 935 0.76 79.0 6.5 2.2 2.1 22.47 28.0
13256 3.0 740 7.03 6.78 960 0.76 81.0 6.5 2.2 1.8 29.84 38.0
132M16 4.0 9.75 9.26 8.93 960 0.76 82.0 6.5 2.4 2.9 39.79 45.0
132M26 5.5 12.90 12.30 11.80 960 0.77 B4.0 6.5 2.4 2.8 54.71 54.0
8-POLE/750RPM

7118 0.09 0.72 068 066 635 0.49 39 2.9 1.8 1.0 1.35 6.5
7128 0.12 078 074 0N 635 0.49 48 2.9 1.8 2.0 1.80 7.5
8018 0.18 088 0.84 080 645 0.61 51 2.9 1.8 2.0 2.67 8.3 B35
8028 0.25 115 110 1.06 645 0.61 54 2.9 1.8 2.0 3.7 9.0
9058 0.37 1.56 1.48 1.43 670 0.61 59 3.2 1.9 1.3 5.27 12.0 .
9013 0.55 2.1 210 2.02 670 0.61 62 3.1 1.0 2.3 7.34 15.0 EE
100L1-8  0.75 243 231 222 685 0.67 70 4.7 1.8 Aol 10.46 19.0
100L2-8 1.1 3.36 3.20 3.08 690 0.69 72 5.0 1.8 2.2 15.22 21.8
112M8 1.5 440 4.8 4.03 730 0.69 75 5.0 2.0 2.5 19.62 29.0
13258 2.2 6.04 5.73 5.53 710 0.71 78 6.0 1.8 2.5 29.59 39.0
132M8 3.0 790 751 724 710 0.73 79 6.0 1.8 2.4 40.35 45.0

LT, MOUNTING ARRANGEMENTS

1k b.d IEC34-7(1992) Q%Q&HL it IEC34-7(1992) @.%EE%

R ABRY
NES Mounting dimensions(mm) Overall dimensions(mm)  XxyxZ(mm)

Frame
size A AA AB AC AD B C D DH E F G H ' L M N P S T GA

Types of f£E1 £\ Avallable Types of E1 €8 Available
mounting Code| Codell standard mounting Code | Codell standard 56 90 21.5 110 110 96 71 36 9 M4x10 20

Types types 7.2 56 0%1.5 7 MI1BX1.5 183 100 80 120 7 3 10.2 9Zx92x38
63 100 22 122 122 99 80 40 11 M4X10 23

8.5 63 0+1.5 7 MI8X1.5 218 115 95 140 9 3 125 92x92x38

3
4
ED:D .:i: IMB3  IM1001 56-132 <1 B IMVI IM30T 36-132 71 112 25 136 138 109 90 45 14 M5X13 30 5 11 71 0£1.5 7 M18X15 351 130 110 160 9 3.5 16 103x103x38
IMB5  IM3001 56-132 o IMVZ  IM3031 56-132 80 125 29 154 157 112 100 50 19 M6X16 40 6 15.5 80 041.5 10 M20x1.5 286 165 130 200 12 3.5 21.5 110x110x35.5
IMB6 56-132 %I .ED'_ IMV5 IM1011 56-132 905 140 34 174 175 120 100 56 24 M8X20 50 8 20 90 0+1.5 10 M20X1.5 335 165 130 200 12 3.5 27 110x110x35.5
@ % s cadid F Rl e i 90L 140 34 174 175 120 125 56 24 M8x20 50 8 20 90 0+1.5 10 M20X1.5 350 165 130 200 12 3.5 27 110x110x35.5
100L 160 40 194 196 139 140 63 28 MI0X25 60 8 24 100 0+2.0 12 M20X1.5 377 215 180 250 15 4 31 T110x110x35.5
IMBS 56-132 IMVIS  IM2011 56-132 *
‘%, E%—-' 112M 190 38 224 220 156 140 70 28 M10X25 60 8 24 112 042.0 12 M25X1.5 395 215 180 250 15 4 31 144x144x44
IMB14  IM3601 56-132 IMV36  IM2031 56-132
= 1325 216 49 256 260 185 140 89 38 M1230 80 10 33 132 042.0 12 M25X1.5 472 265 230 300 15 4 41 144x144x44
T :I]E WE: nae -z et T 132M 216 49 256 260 185 178 89 38 M12X30 80 10 33 132 0£2.0 12 M25XX1.5 510 265 230 300 15 4 41 144x144x44
IMB35  IM2001 56-132 IM2131 56-132 R ROSRATINEEOEE.

R=0 distance from flange to shaft shoulder




O BRERTE MOUNTING AND OVERALL DIMENSIONS BHESHESTHE MOTOR SPARE PART LIST/DRAWING

B14

Y —2
; i O ¥
_-':'_T'
O 2
— | - -
/
E e '’ ‘
L
"’ y j—N—q
P
s -3
B34
X
, | T
- - ¥ o
I'F.._
s 2
1
i Ld  -GeEaE
T
, 1.End shileld B3 13.Fan clamping bushing
e : 11 2.Frame B5/B14 14.0liseal
" 4|__-HL 3.Wound stator 15.Fan cover
A 4.Rotorwith shaft  16.Self-threading screws for fan cover fixing
L L AE 5.Front shield 17.Terminal board complete with components

6.Bearings 18 Terminal seal IP55
7.Key 19.Cable gland
8.NDE shield 20.Terminal box IP55 (cover)
9.Name plate 21.Mounting studs screws

10.5pring washer  22.Flange BS
11.Rodsandnuts  23.Flange B14
12.Cooling fan 24.5crews for terminal box fixing IP55

2RRT MR
nNEsS Mounting dimensions(mm) Overall dimensions(mm) ...

Frame
size A AA AB AC AD B C D DH E F K L M N P S T GA

56 90 21.5 110 110 96 71 36 9 M4x10 20 3 7.2 56 7 MI18X15 189 65 50 80 M5 3 10.2 92x92x38 Driving End Non driving End oll Seal
63 100 22 122 122 99 80 40 11 M4X10 23 4 B5 63 7 MIBX15 218 75 60 90 M5 3 125 92x92x33 RRS SHse

71 112 25 136 138 109 90 45 14 M5X13 30 5 11 71 7 MI8X15 250 85 70 105 M6 3.5 16 103x103x38 56 6201 2RS/C3 6201 2RS/C3 $12Xx $22%5
80 125 29 154 157 112 100 50 19 M6X16 40 6 15.5 80 10 M20x1.5 278 100 80 120 M6 3.5 21.5 110x110x35.5 63 6201 2RS/C3 6201 2RS/C3 $12% $22X7
90S 140 34 174 175 120 100 56 24 MBX20 50 8 20 90 10 M20X1.5 335 115 95 140 M8 3.5 27 T110x110x35.5 71 6202 2RS/C3 6202 2RS/C3 $15% $25X7
0L 140 34 174 175 120 125 56 24 MB8x20 50 8 20 90 10 M20X1.5 335 115 95 140 M8 3.5 27 110x110x35.5 80 6204 2RS/C3 6204 2RS/C3 $20% $30x7
A00L 160 40 194 196 139 140 63 28 M10x25 60 8 24 100 12 M20X<1.5 377 130 110 160 M8 4 31 110x110x35.5 90 6205 2RS/C3 6205 2RS/C3 $25x% $37X7
A12M 190 38 224 220 156 140 70 28 M10X25 60 8 24 112 12 M25X1.5 395 130 110 160 MB 4 31 144x144xd44 100 6206 2RS/C3 6206 2RS/C3 $30x $42%7
1328 216 49 256 260 185 140 89 38 M12x30 80 10 33 132 12 M25X1.5 472 165 130 200 M10 4 41 T144x144x44 12 6206 2RS/C3 6206 2RS/C3 $30x $42x7
13ZM 216 49 256 260 185 178 89 38 M12X30 80 10 33 132 12 M25X1.5 510 165 130 200 M10 4 41 T44x144x44 132 6208 ZRS/C3 6208 2RS/C3 $ 40X $58X8

E: R=0AOGESEIREROER,

HNERTAN. EONAEXY, BRUEAREINURIIW R
The above motors can be load directly .

In case of high radlal force, NU bearings are recommended.
This catalogue is only a reference for users. The data may change, please contact us before ordering.

R=0 distance from flange to shaft shoulder




